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1. A E2|t] MXISAL- 7I2Y, HA&E

1-1. XAfjH|

NES 1] EA 83,000 83,000 83,000 83,000
7t2ut 3 EA 19,000 57,000 19,000 57,000
S2MHE|LIAL M6x45 6| EA 500 3,000 500 3,000
L 2HE M6 6 EA 100 600 100 600
RERIVS ®18 12 EA 50 600 50 600
2 A 144,200 144,200
1-2. AX|H|

A gal) dx| 1] SET 1,424 1,424 47,470 47,470 48,894 48,894
27| 25kw 0.3 HR 9,437 2,831 33,571 10,071 3,237 46,245 13,873
2 A 4,255 57,541 62,767
g A 148,455 57,541 206,967
2. A Eel MXSAF- 72, dASH,

2-1. AtA{H|

NES 0.5 EA 83,000 41,500 83,000 41,500
kSRl 3 EA 400 1,200 400 1,200
SZMHE|LIAL M6x45 3 EA 500 1,500 500 1,500
L 2HE M6 3 EA 100 300 100 300
RERIVS »18 6 EA 50 300 50 300
2 A 44,200 44,200
2-2. MX|H|

Al dx| 0.3 SET 1,424 427 47,470 14,241 - 48,894 14,668
87| 25kw 0.2 HR 9,437 1,887 33,571 6,714 3,237 46,245 8,601
2 A 2,314 20,955 23,269
g A 148,455 57,541 67,469
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1. A EE MAXSA- 712, S2E

1-1, RIxHH|

SES 2 EA 83,000 166,000 83,000 166,000
7tZd} 3 EA 19,000 57,000 19,000 57,000
S hdl 6| EA 400 2,400 400 2,400
S =M LEA M6x45 12 EA 500 6,000 500 6,000
L 2HE M6 12 EA 100 1,200 100 1,200
HeotM 18 24, EA 50 1,200 50 1,200
2 A 233,800 233,800
1-2. MX|H|

A E2|o MK 1) SET 1,424 1,424 47,470 47,470 48,894 48,894
| 25kw 0.4 HR 9,437 3,775 33,571 13,428 1,295 46,245 18,498
2 A 5,199 60,898 1,295 67,392
g A 238,999 60,898 1,295 301,192
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X = b T &4 4 H g A
235 4 =7 | e bl @
= Z = 2 = Z A = 3 %

* 1S E : A | X]
SgHelg 0.13 ¢l 214,222 26,777 214,222 26,777 |dz2ele
2EseF 0.13 ¢l 165,545 20,693 165,545 20,693 Azgelg
T 2 H| L 2H|9| 3% 0.03| % 47,470 1,424 47,470 1,424

A 1,424 47,470 48,894
* ®2SFE W7
AR M=& 0.001% 4.3 | 1,770 7,611 1,770 7,611 12024.01 H2HItA P.1451
A2 TR 24% 0.24| Al 7,611 1,826 7,611 1,826
LB H2F AF 1 ¢ 33,571 33,571 33,571 33,571 mM3s=:

A 9,437 33,571 3,237 46,245
* RIBSH : BI|ASEA-'AIHE
LB H2F AF 0.208 | ¢l 161,142 33,571 161,142 33,571 | 1201 Al2bx& 012 2:x8 X H 4=(1/8)x(16/12)x(25/20)
* =t
sgolg 2024.1.101& 1« - 214,222 214,222 214,222 214,222
2g0= 2024.1.101& 1 « - 165,545 165,545 165,545 165,545
LB H2F AF 2024.1.101& 1 « - 161,142 161,142 161,142 161,142
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